Wednesday 22nd April 2020
Lesson 3 EXTENSION: reasoning & problem solving

1. There are 2 pencils in a pack. 
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                       Is she correct? Explain why. 

2. [image: ]Imani and Scott buy stickers for their collections.





     Who has the most stickers? Explain why. 

3. [image: ]There are 2 crayons in a box.





                       Is she correct? Explain why. 

4. Use the cards below to complete the statement. You can only use each card once. 

[image: ]Find two possibilities. 
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I have 18 lots
of 2 pencils.

I have 2 lots
of 19 pencils.

Who has the most pencils?

Cali says,

PS
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I have 15 lots
of 2 badges.

Mick says,

I have 2 lots
of 15 badges.

Who has the most badges?
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9a. Use the cards below to complete the
statement. You can only use each card
once.

x2<2x

GG

Find 2 possibilities.

% .

9b. Use the cards below to complete the
statement. You can only use each card

once.
* D g 2 * D

GG

Find 2 possibilities.
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Reasoning and Problem Solving - The 2 Times Table - Teaching Information

The 2 Times Table

The 2 Times Table

1a. There are 2 pencils in a pack.

| bought 4 packs so
I have 10 pencils.

Alice says,

Is she correct? Explain why.

T

2a. Liz and Todd buy chocolates from the
tuck shop. Liz has 12 altogether.

I have 7 packs
of 2 chocolates.

Todd says,

I

1b. There are 2 cakes in a box.

I have § boxes so
| have 9 cakes.

Kai says,

<
<

A IA
A IA
IA IA
A IA

m

Is he correct?
| v

2b. Jordan and Katie buy pens from the
gift shop. Jordan has 8 altogether.

xplain why.

Katie says,

m I have 3 packets
O of 2 pens.
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5a. Imani and Scott buy stickers for their
collections.

Imani says,
I have 2 packs
of 10 stickers.
Scott says,
I have 7 packs
of 2 stickers.

Who has the most stickers?
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5b. Leyla and Noel buy sweets from the
shop.

Leyla says,

I have 2 packets
of 9 sweets.
Noel says,
I have 12 packets ' ‘
of 2 sweets. \ )
_—a
Who has the most sweets?

PS

6a. Use the cards below to complete the
statement. You can use the cards more
than once.

6b. Use the cards below to complete the
statement. You can use the cards more
than once.
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Find 2 possibilities.
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Find 2 possibilities.
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The 2 Times Table

The 2 Times Table

7a. There are 2 batteries in a pack.

Toby says,

I bought 13 packs so
| have 26 batteries.

Is he correct? Explain why.

A

7b. There are 2 crayons in a box.

Tina says,
YOR I have 17 boxes so
e | have 43 crayons.
PN

Is she correct? Explain why.

¥
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